BRM A=

BEEBAH(T73aY)

020094
kwh
1800 020104
y
m20114
1,600 —
1 ,400 B201345
1,200
1,000 j —
18 2R 3A 47 5A 64 7R 8AH 9A 10A 11A 12A
JoS—N-=¥ C
kwh
1 ,800 020094
020104
1,600 w0114
020124
1 ,400 Tl m20134
1,200
1,000 =
18 28 38 48 58 68 78 8A 98 108 118 128
IEFEE S
14 28 34 44 54 61 7h 84 94 1041 114 124 &F
20094 1,305 956 515 214 78 179 375 265 90 185 558 367 5,087
20104F 1,380 753 630 304 99 242 470 496 142 184 501 365 5,566
20114 1,390 861 708 224 75 265 428 332 177 89 577 471 5,597
20124 1,693 1,080 821 121 100 213 457 452 152 128 625 447 6,289
20134 1,385 888 369 251 127 256 441 363 176 224 616 582 5,678
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20094 1,410 1,057 972 886 693 668 746 646 671 809 810 420 9,788
20104F 1,593 1,075 1,067 863 727 719 736 673 704 701 853 514 10,225
20114 1,494 1,071 1,105 838 752 749 682 714 710 706 854 535 10,210
20124 1,631 1,040 1,010 791 735 612 645 627 544 629 807 508 9,479
20134 1,356 962 795 814 653 598 700 630 575 739 775 602 9,199
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